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General Instructions :

(i)
(ii)
(iii)
(iv)

(v)
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There are 25 questions in all.
All questions are compulsory.

Questions no. 1 — 14 are short-answer type questions carrying 2 marks

each. Answer to each question should not exceed 30 words.
Questions no. 15 — 21 are long-answer type questions carrying 4 marks
each. Answer to each question should not exceed 80 words.
Questions no. 22 - 25 are very long-answer type questions carrying

6 marks each. Answer to each question should not exceed 200 words.

Question no. 25 is to be answered on the basis of the passage given.

©us <h
SECTION A

AT SfeshR =1 2 2

What is social exclusion ?

UeH fehe & ITIHR 1Y T1Y 1 I HAAS & ?
According to Adam Smith, what is meant by the invisible hand ?
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FEd1 g WITHadT UG fhe a9i8 € 3 <1 | fod1 &1 RO a7 AT 2 STal

SFEET 31T H St 3Y o @l shl T 1T gt § 2 2
YT

Wd o it o=t | 9w 99 9 fofie gfaeem s & sron i 9geH

SHifST | 2

Why is rising dependency ratio a cause for worry in countries that are
facing ageing population ?
OR

Identify the reasons for different replacement levels found in the
different States of India.

[T & | fgd oqg 8 %™ i 7 2 2
How do interest groups operate in the political area ?
TRA T H B 1ol MR- I Ihg o HROT FT @ 2 2

What are the reasons for the growth of Indian language newspapers ?

fepegl & AfgeAT Gt o 919 9qrsy | 1+1=2
Name any two women organizations.

AN 9gd-Hl AEpiash YIS T SR fFe TR BT Ve Jeq( § Heag

B8 ? 2
JrqaT

A hi Tl srelegaren & 98 $19-8 H 9T I & ? 2

Many of our cultural practices and patterns can be traced to our agrarian
background. How ?

OR
What are the factors behind Kerala’s mixed economy ?

TrERfqeh fafagdr fre TR 1 Shied AT i T&qd il @ ? 2

AAAT
IeUEEIH oI deh 9 8 HAJR Hd Bld & ? 2

How can cultural diversity present tough challenges ?

OR
How are minorities politically vulnerable ?
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13.

14.
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a1y Hifean drehad bl T o fou fore w9 § w59 war 8 2

How does mass media function as a watchdog of democracy ?

1970 % 31 | fohal & U Ao i Toh vl | & fobarm T o 2

With what objectives did ‘new’ farmers’ movements begin in the 1970’s ?

TEhAIeRo TrmTioreh a1 Sfshar & 8 2

HAgAT
HATSRMTE Y HsRaTd g’ 9dU U IR 3R Eaadl o U fa=amr S
ffafees e & WG § 31T, 3% Y9 |
How is Sanskritization a process of social change ?
OR

New ideas of liberalism and freedom emerged in colonial India as stated

by sociologist Satish Saberwal. Identify them.

THAE AL H. & T 7 HY ufafie @R w afie @ fuer & fog
3fereh Taes &1 fean B 2

How has the formation of AITUC made the colonial government more
cautious in dealing with labour ?

“ara ifean zaR 2 Soa w1 o T 8 1 3@ s o gued H s @
IeE A |

“Mass media is a part of our daily life.” Give any two examples to support
the statement.

U 19T I AR HATS 1 fohg Iehr 8 g femam 2
SreraT

JSeg o 3T H 98 o TR Ysfiard] dR o e (") | 9gd Al
M & | R FATy |
How has English language impacted our society ?

OR

There are vital differences between empire building of pre-capitalist
times and that of capitalist times. Give reasons.
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Qs @
SECTION B

SeX, &1 3TN JmITe gl i HIERal § 95d TR a1 8 | ey |

Literacy varies across gender, regions and social groups. Explain.

AT ST hl Teh GTHTISh GEAT & 9 H 8 <@d & ?

HAYAT
qRA T ITCTETE o 3HA & AT H Toh 981 IUA-YIA fohd TR 3115 2
What is a sociologist’s view on market as a social institution ?
OR
How did the advent of colonialism in India produce a major upheaval in
the economy ?

3feqT A3 HITH & KU A hl AN B Iooid hiNT SR 378
Afgenel i auMar o fou afqeg foeam |

AYAT
STEIRIAT ST SGEAT T Teh =7 N S0l gSUNOTH 7 | STEqeadm o fafve
T} i SRS HIfT |
State the declarations of Karachi Session of the Indian National Congress
which committed itself to women’s equality.

OR

Untouchability is an extreme and vicious aspect of the caste system.
Explain the various dimensions of untouchability.

Gfaum § gedt T 1 M w3 & folu 8f. treigst 3R wgrear eft gra
feu U qept it Stm Hifs |

Examine the arguments given by Dr. Ambedkar and Mahatma Gandhi
for the inclusion of Panchayati Raj in the Constitution.

SR ST T Th-g § IS1 g3 WishaTd 3 | fora=m ity |
Industrialization and Urbanization are linked processes. Discuss.
“19¢ sraredt # fopu U wmTIe gawi § engfie dey o fa=m & fasmr
v feram T o 1”7 QU T see <l SATedn hife |

JAUAT
TSR] o SMYhIhIT o TS hl hel TNWTYG i hi IR 6l 7 |
foear & samsu |
“What marked these 19" century social reform attempts was the modern
context and mix of ideas.” Interpret the given statement.

OR

Sociologists have tried to define what constitutes modernization.
Elaborate.

5 P.T.O.



22,

23.

24.

62,

it geadt Afafm o SR=IE U 9% T8 QI H 3@ HIfT |
Mention the loopholes found in the implementation of the Land Ceiling
Act.

wQ|us 1
SECTION C

STTIRhT T ¥ AT o HTNTS TS 5 WRA hi Tohdl ol IGHT AT A Tgar ?
Jrera

IEERRT (Civil) AT TST bl < 3T Ik AN o [T ITEr] sHET 8 |

AR ). 318, rfufem & ged 1 sumean fifsu |

In your opinion, has the linguistic reorganization of States helped or
harmed India’s unity ?

OR
Civil society makes the State accountable to the nation and its people.
Explain with reference to RTI Act.

3MafrafiTeh Sl & SH Sifa Teen | 9 afede 1T | smen hifvw |
AT
FIT AT AT 8 Tob SHefaat snfen aqe@ § S wwgar il Ses1e U ST
TehTeh! St Sfid & 2 T hifsg |
The institution of caste underwent major changes during the colonial

period. Explain.
OR

Do you think tribes are primitive communities living isolated lives
untouched by civilization ? Discuss.

ISR 3R 9H oh AT RS [IHSH & JHE shi AT Teh IGTeT hi
FERIAl § i |

HAAAT
ST 7 TEhid I S5d-8 alieni g wifaa foram 2 | foear & wwems |
With the help of an example, explain the impact of globalization and the

New International Division of Labour.
OR

There are many ways globalization affects culture. Elaborate.
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fau 7w srg=ee I ufgu R = fow eyl o IR Y |
foe T 1924 § el wefial & o) # : “B wefiar & Ifd 9nrere o o
%, i TRl o1 foiel 761 § | § 39 &9k 1 foiell § S s Wl HE Ll
3 | STGHT oW ¥ S o TOIT woigl S d I 9 a o BRI TeigU
I fo 1 %W &% FSHhi W @ ¥ T o ¢ beh 7 feam Sw | # o7 oK 5w
gl ! SEMT ATEdl §, HHeSIid % Uh 319 & fog =& afcss gee fag | 8
Tufd ! $® A B THHIA T&l FH <A1 dTEdl, Sfceh W Heeh gl H <@l
=RA g 17
1934 : “Ueh TSE o Y H 99 §H TG ohl IYATd B dl 8H 7 hael SIS <hl
TOE 1 GHIYH Hid @ dfc I8 off oifda ot 8 o6 gard fordft oft Tog |
SN0 A hH TTBT AGT 8, AN BH E g ThE % w6 bl ot FEHIE
§|77
() I R wasy f Wi sfyet & fou fom TR g saw
HA R

(9) TS % B A fqered o1 ? W@ I SUAH AW Rl KY Uk A
Hehell 8 ?

Read the passage given and answer following questions.

Gandhi on Machinery, in Hind Swaraj 1924 : “What I object to is the
craze for machinery, not machinery as such. The craze is for what they
call labour-saving machinery. Men go on ‘saving labour’ till thousands
are without work and thrown on the open streets to die of starvation. I
want to save time and labour, not for a fraction of mankind, but for all. I
want the concentration of wealth, not in the hands of the few, but in the
hands of all.”

1934 : “When as a nation we adopt the spinning-wheel, we not only solve
the question of unemployment but we declare that we have no intention
of exploiting any nation, and we also end the exploitation of the poor by
the rich.”

(a)  Give an example of how machinery creates a problem for workers.

(b)  What alterative did Gandhi have in mind ? How does adopting the
spinning-wheel prevent exploitation ?



